(v) @us&#

(a) THEET 1T 16 — W%W(MCQ)%,@W?;;
12| 5 T e ) e e P @ e 39 (o
3R fafay | s o

(b)mmlﬁzs—a@ﬁum%uw%,m%zm%l
37 1 FRdemgEw ST g |

(vi) w@us@Ew

(a)md@rzwm—aﬁragwﬁammé?%ZW%
IR STWHA HAT30 A 50 T2 2 | .

(b) ¥ T 38 F 41 — T A TR ¥ 3 37 § 3TN
FRHET50 A 80 T & | :

(c) T TEAT 42 3N 43 — Jel v &, 7% % 5 31 § A
ST T EiET 80 T 120 Y1

Note / 2T :
(1) Answers of all questions are to begiven i er given to you. \
Tef} AT o ST TR A T G

(2) 15 minutes time has be stion paper. The question

m. to 2:30 p.m., the

students will read th not write any answer on
the Answer-Bo l%r; .
mew& T R | -0 T T de d
2:15 5 3 ; T T Fad G- HI TG A FH

e guestions No. 1 gare Multiple Choice type questions (MCQs) carrying

i
1 mark each. .
FAe: THGEN 1416 agﬁamﬁam%mé, T IAF I HFHE |
1. A balanced chemical equation follows : ’ : ]
(A) the law of multiple proportions
(B) the law of conservation of mass

(C) thelaw of constant proportions
(D) Avogadro’s law

68/MAY/3-313-A] o SES [ contd-
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uat vy ferar trar e e gufar 2
(A 1l e @ Fra

(B) R0 ey 1 Ry

() Fer avqurer w6

(D) STENTR w5t Fray

2. Which of the following is not a diatomic molecule ? 1
A Hy, (B) 02 é
() Og (D)

mmﬁam.m@ﬁmmm 13 &
(A Hy =4
(C) Og ST (D) v
3. The shape of PClg molecule is : 9 1
(A) Tetrahedral %r «
(C) Trigonal pyramidal O(D é) w idal
PCl; 310 1 SRR - 0 m
ELETR
(©) P

E) RN
4. The solubili as i% t pressure : 1
wi i

(A) d
(B ses with
ecreases with the se in temperature.

(D) is not affected with the changes in temperature.

feort arer o fopedt A oY s # forerran

(A) oA H i % arer wedi @ |

(B) WA FfgFEITGAL], [
(C) THEFamaedial O
(D) mﬁwﬁaﬁaﬁmﬁa:@?ﬁﬁ

68/MAY/3-313-A] ;;; 5 =83 [ Contd...
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5.  Mercury in gold is a type of solution of : 1
(A) solid in solid (B) solid in liquid
(C) liquid in solid (D)  liquid in liquid
TR 3 ety 3 forera T TR R
(A) IWHIE (B) aafraia
(C) 3J@HT (D)
6. A process is said to be isothermal :

when the temperature of the sys
first operation out of three

(A)

(B) when the temperature of t
operations
(C) when the temperat

operations

when there 1 erat

é‘

Enthalpy change is given by the expressmn
AH = qp AV = qy
(C) AH=qy (D) AV=q,
et aed S B -
(A) AH=gqp (B) AV=gqy
(C) AH=gqy (D) AV=gqy
6

68/MAY/3-313-A]

-1
Akept constant during the
i Lustant during various
%com«@lt after various

awmﬁmr@m
qqaT e T s
3T T aTaHT fRoR BT ST

[ Contd...
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8.  According to Bronsted-Lowry concept of acids and bases : 1
(A)  an acid is an electron acceptor
(B) anacidisa proton donor t8
(C)  an acid is a proton acceptor N
(D)  an acid is an electron donor l\JC;
S Tl &R 3 Sl debe 3 awgerrtri
(A) 3T T T e H
(B) 377 T WS aram 3 é
(C) 17 Toh W Ty & o
(D) 3T Ush g ara & \
9. The charge on a polyatomic ion is : 1
(A) the charge on the central atom o 1
(B) the charge of the element wit of s in the ion
(C) the sum of the oxidation n é
(D) equal to zero
ferelt srgurTfvaes 3maa w
(A)
(B) s’r
10. Q 1
e pal‘ﬂn chemical bonding
ir i t take part«un chemical bonding
° electron pair in p, d#€s not take pagm chemical bonding
(D) both the s-electrons take part in chpmlcal bonding
S5 I T ST BT & S ; -
(A) 2T s-TFEH AT ST H W el ot
(B)  py T ST I TETA( AT 8 WI Tl a1
(C)  py 1 FeEEH T THRIH SAE 5 HRT T o
(D) 2T s-3oF TETER AT H W ofd &
68/MAY/3-313-A] 7 : gﬁﬁ [ Contd...
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11.  Dilution of sulphuric acid is done by adding :
(A) water to conc. sulphuric acid slowly
(B) conc. sulphuric acid to water slowly
(C) water to conc. sulphuric acid rapidly
(D) conc. sulphuric acid to water rapidly
TR ST T TR fohaT ST & ;
(A) S i - 5 Terfien o 3 3T
(B) Wiz acwfta a7t i ofit-efft st o s1et R
(C) STt i oht & WK TR 31 H STl
(D) Wis T mﬁﬁrﬁwﬁmw

\s

12. High spin complexes have :
mplexes

pm@lexes.

(A) less number of unpaired elect
(B) more number of unpalre e

(C) all paired electrons.
(D) no electrons o

erted into saturated compounds by : 1
hmmatlon T

substitution r ns

(C) addition reactions

(D) molecular rearrangements

ST AR 1 g At 3§ i o e

(A) Tl sififsraret g

(B) wfcreera sxfurfsramsti g

(C) Teher AfufmamaT g

I IEIEENCIERIGEY
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14.

15.

16.

e
( inka
o drogen bond fi

Night blindness is caused by deficiency of :
(A)  Vitamin E which is fat soluble

(B) Vitamin E which is water soluble WD

(C) Vitamin A which is water soluble :r?i

(D) Vitamin A which is fat soluble :(;2,

(A) Tfm Efirwh Srami g H

(B) foetfim E S aft, s wer 1 frera &

(C) forfim A i sft, S o 1 e @ o

(D) et A wft, e § i 2 ‘\

The monomers of Buna-S are :

(A) Dbutene and styrene w v

(B) butene and sulphur 0 :'_i

(C) butadiene and isobutyleneo 3 q
(D) butadiene and styreneo eﬁ «

(B) =g 3K «g

(C) SIRISTA

D) = w &
Th * pg ei e materiagbecause of :

AT-S o Thelh & :
(A) T A RTEH

WD

745

weak Van der Waal® intermolecular forces:

(D) very few cross-linkages
wﬁé&wﬁnﬁmﬁﬁmmﬂwwaﬁ?
(A) 37 shrE-fofeh B

(B) eTESIeH SATEET b ST .

(C) Wgﬁaa@aﬁma@mm

(D) arga 3w shra-foidh T

68/MAY/3-313-A] J

(3 Scanned with OKEN Scanner

g%% [ Contd...



Note : Questions No, 17 to 28 are Objective type questions carrying 2 marks ecach.
A e ww e 17790 28 argfim s g #9090 2 90 #i

17. Vil in the blanks with the options given below : 1x2=2
(6:022 % 1023 12:044 % 1023, 22:7 1, 68:1 L)

(i) The number of C();‘);" ions present in one mole of Na,COy is

(i) Three mol of oxygen gas at STP is equal to 0
i1 faw 1o foredi @ frep zamm it

(6:022 % 1023 12:044 x 1023, 22-7 L, 68 1

T T JEAT Z|

(i)  Na,CO, % v um 2] (irer)
(i) STP T sirrisE fa @ i

18. Read the passage givcn fol « stions : 1x2=2
When hydrogen gas es he'discharge tube, the
light emitted on pa le t ined, the spectrum
obtained is ¢ the emis spec ydrogen. It is found to

consist of en mb ch e grouped into different series

like Ly nd Pfund series.

e Lyman series produced ?

yman series lie ?

AT % I SIS :

e 8, TR S A T 7 T v | g e
Wﬁqﬁﬂiﬁ%ﬁﬁ?mﬁ“ﬁammﬁmﬂmﬁwﬁ?,éﬁzw
g A0t |
() e ot 5w e (R e e g 7
i) v g A0 o gl 2 2

8/MAY/3-313-A 10 ic
68/MAY/3 J 2&% ( Contd.-
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9. Write Tru W)
1 ot e (T) for correct s‘thtement and False (F) for incorrect

LCD 1x2=2
(i)  Osmoti

1C pressure is g colh\éatlve property.
(i)

Molarity of a solution i is éxpressed as the number of moles of solute
per kilogram of solvent,

el T % T w (T) 9 wrerer s 35 v e () forfaa )
) T I O S e 2|

(i) faerm i Ao # frems F iy S 3§ B
o R ST R |

AT g

20. Fill in the blanks with the optlo&s given below \ I1x2=2

(lowering of vapour pressure, ‘é]evatlon 0
1-2x,1-%/2,1+x) @

(i) The temperature at Whl
equal to the atmosphenb

liquid.
(i1) In case of associati
i

ﬂ%ﬁqnqﬁmﬁ

point boiling point,

11qu1d becomes
of the

@omatlon, then

1 x/2 1+Xx)
T % SR B 9T 8, 5

1x2=2

21. e blanks with D
ion, variable, systen 4‘ _gFundmgs)
(1) Enthalpy is a state
(Gi) Endothermic reactions absorb heat from
5 R faeheat @ ek T qfT ;
(e, =X, T, i) .
|
() el O e
PO 1 11 L - ST T ST A E |
EFEE
“&7 [ Contd...
68/MAY/3-313-A] 11 E%% [ Con
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22.  Read the passagé given below and answer the following questions : 1x2=2
] reaction depends only

The total amount of heat change in any chemica
upon the nature of the initial reactants and the nature of the final
the number of

products and is independent of the path of the reaction or
steps taken to bring about the reaction.
(1) Which law can be derived from the above passage &

(ii)  State any one application of the above mentioned law.
< few o wRede i af st R s % SR

forelt T TR & S aftad oY et AT et
sy 3 sifem St S g o feke el & SR 7R
g i T W it T e |
() I uftede @ FA-8 frm i e g7
(i)  Swda Sfeefad e 1 18w 37 |

Qr t%%g questions : I1x2=2
i c

S cateakcal
ot AT HAPAGHAT

23. Read the passage given below
A Dbuffer system contain -b air and the
to that of the

concentrations of these i

hydronium ions. Thes i erve and the base
d aei sacts with these reserves

®

reserve respectively.

and gets consumed g}.\t S ntl :

concentration herefore t es ge significantly.

(i) Which po al«ﬂ' 4r solution with acetic acid ?
Givel ic itio

e base reserve for the above

erv

(ii)

7w a1 & 37T 3 S Pl AT Beg e S
| 3 SHEST: 3TRT Rfd 3 &R TRfda Faand § |
T i 1 Tt qREd PR T SR @ ST @ 37 F6{ee pH § <his Hewe

qfEd T8l el |
i @ﬁam%mﬁw—mm@ﬁmwﬁwm?mmﬁm

(i)
geeT i |
(ii) Wmﬁwmémmaﬁmsﬁt & R T A1
fafaT |
68/MAY/3-313-A] 12 CEE [ contd..
D

(3 Scanned with OKEN Scanner



24.  Match the items in Golymy | with Column 11 : é s

Column T Column I1
(@) Chemical energy — Flectrical él:(ﬁ?ergy (iy  Faraday’s Second law
(b) Zine — Anode; Carbon (Graphit) - Cathode (i) F'a raday’s First law
(0 W=2ZIt '{13 (iii)  Dry cell
@ Wa _ Eq. mass of A 'H\ .

W Eq.mass of B (v} G %e”
I 1 ) e 11 4 i i

e 1
(a) Tlmﬁaamf_)ﬁ—%amf @
®) ﬁ*—ﬁgﬁm(ﬁm~m\o(ii
() W=ZIt :

@ Wa _ Al el
W B gl

25. Complete and balance the 1929
(i)  Zn(OH), (&}(
()  Cu®* (afilgs H
3 I :
(i) )g (s (a
61 u?* (aq) + HC(Q) T
LN
26. Read the passage given below and ﬁswer the following questions : I1x2=2

A characteristic property of d-blockelements is their ability to exhibit a
variety of oxidation states in their compounds. This is possible due to a
very small difference in the energy of ns and (n — 1)d orbitals.

(i)  Why do different oxidation states arise in transition metals ?

(ii) Which common oxidation states are shown by copper ?

e
68/MAY/3-313-A] 13 e [ Contd...
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< forw 7o wfesda 1 ufpu afi frefefi woat dgadim: | )
A s e 1 O v o, s A  fafie S ST
S T ) e T & | R T ms G (m — 1) ] 1 T A G A A
B 2 hTOT HVE R |

(i) s gt i fafir st st i e S © 2

Gi) IO - wry/aden s s gt € 2

27. Write True (T) for correct statement and False (FIGQor incorreclt ges
statement. xe=

(i)  The correct IUPAC name of
e \
CH3 — CH — CH - CHy — CHj &

is 2,3-dimethylpentane.
(ii) CHgCHyCN is ethanenitrile.
el FUT % AT Fe (T) SR e

e

28.

elastomers. They can be natural or
bber and synthetic rubber.

m@m,aﬁmﬂﬁﬁ@ﬂﬁﬂﬁmﬁﬁﬁw%mm
ST 2 e el I g § | 7 i % TEeh TR A AR B F | Y
mwﬁq;mgﬁwﬁwqﬁ%lqmmazmwm%m@ﬁmwaﬁ;
Greiftd e € | | :

() ﬁm@ﬁmm%wwwﬁm%%ﬁm

(ii) q;ﬁ/g@ﬁa;tatfﬁaﬁ??ﬂm?ﬂﬁm

14 EFE
68/MAY/3-313-A VT o
/MAY/ ] 6%?. [ Contd
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SECTION B
ACLERC)

Note : Questions No. 29 i, W

43 are the Subjéc}twe type questions. An internal choice

has been provided in, some of the questions.

Az : mmzs@a%uw%méjm@wmﬁmﬁaﬁmﬁuwét

29. () Xlllte :lhe electronic conﬁguratlbh of N (Atomic No. = 7). State the
(V)VRICh governs its electronic configuration.
(i)  Caleulate the frequency of visible light of wa 3800 A.
(1 A = 10710 m)
@) N (T 77 = 7) 51 et %ﬂnm@f@
sﬁa;rﬁzﬁﬁwmaﬁqmﬁam%f
(i1) avﬁ?zf 3800 A = g% W il aﬂgﬁ{ &"Iﬁrqw 107 m
30. Show the formation of a chlorine mo om in terms
of Lewis structures. ' qﬂ
& TTHTSAT oht Hafifa o gu
31. An inverted beaker is kep g a pure liquid.
How does this arrangemen apour pressure of
the liquid ? Explain. 2
NESCEAR LRI @ T T | 33 o AT 9
maﬁ@fﬁ?ﬁ AT |
32. dation number method 2
g métals in the order in which they
r in their salt solutions :
Cu, Mg’ zn Ag
E:/alues: E6u2+/c =+ 034 V EM 2+/M - 2-36 V,
E, 247, =~ 0763V, EAg+/Ag =+0799V,
o m, =00V
(b)  Which of the above metals can displace Hy from dil. HC] ?
EIRE
68/MAy/3-313_A] 15 E]Su [ Contd...
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() vl viwn ffis gr e o # dgied F:
P+ HINOg —— POy + NO + HgO
arera

“Cu?*/Cu

(i) @ R wigei @ su g i st A, e 3 eh-gE
Ik el frerrl @ afewenfia weh #
éﬁ V’
i‘n — . y  — 0'799 V!
LG2+ Jgn == 0763 V, E +
EéH*/H =0-0V. \

Cu, Mg, Zn, Ag
(b) 3w wrqaT # A hi-Hft g gﬁwrﬁaa;(m%v

DATOR O =+ 034V, Bl oy
Q ic compounds, and
ag‘k

}@% alence Bond Theory.

33. How does ozone react with (i)
(i1) mercury ? Illustrate by che

(i) ITHJ Hrelf-eh AT,

T8 TTafe TR gRT
34. (i) Elaborate th$

(Atomi

(i1) type

2
FAT S 2

1 be shown by the complex
rite the isomers.

[Cr(NH3)6]3+ & fmior =t wfeear wwems |

Ty

Cr
(11) “@%t [Co(NH Q * [Cr(C90y)3] ‘m%amﬁmmasﬁ%wﬁ ?
Wﬂ%ﬁgm

How will you convert propanone into propane hydrazone ? Write the

35.
chemical equation for it. .

7T ST 1 S greesie 7 e e aRafda i 2 e R e ;
ferfaw |

ara 16 EEE
68/MAY/3-313-A] 5&‘& [ Contd...
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36. ) How are (a) esters, and (b) acid anhydrides formed by carboxylic
acids ? Nlustrate by chemical equations. 2
OR

(i) Give the chemical equation for Wolff-Kishner reduction.

() wEifRE arel A (o) TR, 3 (b) 30 WeEeEe R T s 8 2

TarfAes e g e iR | e

HAAT
37.  Write the chemical equation for the sulphonatioxwl . 2

(i) qo-Rirere s 3 Rr gl wsar AR |
Il
Ul & wewiaRT @7 Tt fafaw |

™~
38. ()  Illustrate the formation of molecular Isgin case of oxygen
molecule. Represent it in the for cul r&al energy level
diagram. Predict the magne e 6 molecule, giving
justification. 3
OR '
™ (i1) Explain the formati f, wate e o%asis of VSEPR
) theory. State its hyb \ 0 n 1@ ape.
(i) SifedisE ' ﬁw T | §8 T AT(vah
HEH Foll & 5 | forg T gT, Oy A H
IR, e \
Q.0
(ii) : ,'; o 3TU] ST HIT GHETST | HRT HehUOT,
39. p(a) Calculate the dissociation of acetic acid in its 0-1 M solution.
Given : K, =18 x @'5.
— .
) Hy0 () + NHj(g) ‘tﬁb NH} (aq) + OH (aq)
Identify acids in thefabove given reaction. 3
™~
OR H
(ii) Give an example of the salt of a strong acid and a weak base.
Which type of solution will it form and why ?
oHD
68/MAY/3-313-A] 17 ﬁ‘% [ Contd...
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() (a) U 3 w1 Riee 8% 0-1 M fyeraw i witerfora s |
femme: K, =18 x107°.

(b)  HeO () + NH3(g) == NH} (aq) + OH (aq)

Iqgar dt 715 TR | Svet Y wem HifsT |
HAgGr
(i) TRl et onet i et & 3 T B Farew difv 14 foRE TR
_ fererar s 37k =/t 2
40. Write any three points of similarity between lan a@a.nd actinoids. 3
SRS i Wfreiee i e ¥ i g
41. Write chemical equations for the following ;
(i)  Kolbe’s reaction for sodium ph v
(ii) Reimer-Tiemann reaction f; \'@1 usi 3
(ili) Williamson’s synthesis % q
frafaRad % foe qamtrs - b «
()  Hifeaw $HI
(i) CHClg & 3wm :
(iii) % «
42. (1) (a ow ar e ined ?
Hov p o from HCl and HCI from Cly ?
OB ..
é (c) %)wing in the order of increasing acid strength :
o HF, r, HI 5
OR ‘
(ii) (a) Draw the structure of XeFy stating its hybridisation and
shape.
(b) Why do noble gases exhibit a lack of chemical reactivity ?
(¢) Write one reaction each, to show the oxidizing ang
dehydrating nature of sulphuric acid.
EEE
68/MAY/3-313-A] 18 =53 [ contd..
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(i) (") X(\li“‘ 3n{ XUII‘“ fa],{l \J,l'“ 3-"[(1 f,] ” ;,”;' "1 ?

(b s v w110y 4 Cly 3l Cly @ 1L 36 wa & 9 Fae
sthfsand ferfiqu |

(o) Fwstferfircy any et warerar 3 st o s i gt AFforo
HIY, HCL, HBr, 1

A \O
() (@) Xely @1 s aqﬁrkgm Fd g, WA
(b) I i varfie
(©)  wewfier swer i sifaet s it % fero, uh-ues

43. () (a)  Give Wurtz reaction fo
(b)  How can Wurtz r @ethyl lead

using the abov W
fo

(c) Give chemi

(I) me er re

(II azotls
é K (? 5
(n carbocations in the increasing order of
their stabg
Primary, dary, Tertiary
Justify your answer.
(b)  State Saytzeff’s rule, arﬂ explain it by takmg an example of
2-Bromobutane. ku?)
(¢c)  Distinguish between cm:orocthane and chlorobenzene by a
simple chemical test. ¥
0
68/MAY/3-313-A) 19 %Ig; [ Contd...
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() (@) s o g g st AR

(b) mmmmmg%ﬂmﬁgm*m?@
e o g fo e o ST @Al € 2

() Fartfefiae 3 fora arawrfies ahemor fs
(1 e sfufra

(II)  STEUSIER
a1 fofer safifsran

»
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